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| cai . sﬁ‘
(. Match the following, related to Uttrakhand : 1 FeEs & ware e @l gatee H
Subject District fawg forem :
(a) District with lowest literacy (1) Uttarkashi (@) T8 &9 T & e () T |
(b) District with highestsex  (2) Haridwar (b) TR ot ¥ IgT (2) EE
ratio aren foen
(c) District with lowest (3) Champawat (¢) qaY FH A9 gHE (3) ==rEq
density of population e e - ,
(d) District with lowest (4) Almora (d) aad S A (4) m;f
population frar
a b c d a b ¢ d
(A) 2 I 4 3 (Ay 2 1 4 3
B I 2 4 3 (B) 1 2 3 3
(€)iis2 4 1 3 _._g(:c“)t’ &) 4 1 3
Dy 2 3 4 ) R 2 3 4

ONOmM PE
2.  Recently, in9th India Today States of States Canclave,
prizes have been given to progressive states in different
~___ fields-Match the state to related winning field :
) ~ Fieldof Prize _ State
& (a) Most Progressive big state (1) Haryana
in total progress and large
economic field
(b) Most progressive big state (2) Maharashrastra
in health and education
(¢) Most progressive big state (3) Uttrakhand
in infrastructure field

(d) Most progressive big state (4) Himachal

in consumer market field Pradesh
a b c d
A) 1 2 3 4
(B) 4 i > 3
@) - 2 I 3 4
2 | 4 3

D)

g@ ; Recently, the Central Urban Development Ministry has
3 pro sed Metro-Railway in the towns having population
' more than : ' |

(B) 20 Lakhs

2 T #, oFf IR I¥ BT AE W@ Hd § q99

WITET I AT o QT fodl T | QTR & fatieT At

& gt T § gafed #

(a) FATOT g AR 85 (1) Ramm
Sreferae & &9 § §99
3ferF I, T T

(b) T 3R faven & &= §
a9 e I, T2 T

(c) O e & A5 § a9 (3) TWETS

(d) TTVERT 99K & A HHEE (4) RerEe wear

(2) HErTS

e I, 931 T
a b 3 d
(AY e 201 3 4
(B4 1 2 3
(C) 2 1 3 4
{2 : 4 3

(D) 25 Lakhs
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8.

9,

10.

G-10

Recently, Central Govt. has approved ammendments
to the prohibition of unfair practices in Technical
Education Institutions, Medical Educational Institutions
and University Bill 2010, as per new ammendments a
fine has been raised to Rs. ...... for demanding capitation
/donation fees :
(A) 10lakhs
(C) 10 crore

(B) 0l crore
(D) 01 lakh

Uttrakhand Govt. has raised the pension of old person
above 80 years age to rupees !

(A) Rs. 700 per month (B) Rs. 1000 per month
(C) Rs. 400 per month (D) None of these

In Jharkhand. recently the well known lady John Valsa

was killed, by beating with sticks and then axed. Valsa

was performing movement against the following—

(A) Anti displacement movement against a private

company

(B) Corruption in MANREGA (m=rem)
(C) Exploitasion of poor by rich people

(D) None of these

The new record of scoring maximum [est runs in a

ground, has been set up by :
(A) V.V.S. Laxman (B) Rahul Dravid
(C) Sachin Tendulkar (D) Virendra Sehvag

Recently, the Chief Minister, who opposes Arm Forces
Special Power Act (AFSPA) :

(A) Navin Patnayak (B) Umar Abdullah

{C) Narendra Modi (D) Ashok Gahlot

Recently who has been appointed as Brand

Ambassador of MANREGA (gF0m) :
(A) Amitabh Bacchan (B) Prakash Jha
(C) Sushil Kumar (D) None of these

time., The Tecsus University of Dalas (U.T.D.), has

Ist
named it’s School of Mana

is:

(A) Mukesh Ambani  (B) Naveen Jindal

gementon Indian, that Indian |

&

S

¥

\1/0'

(D) Ratan Tata

(C) Anil Ambani

.

5 : SET-C
g1 8 | e SN BT, QA (9T Fear, fafe,
forer SEar o fa.fa. & S giHated v qeaeg
ferérga 2010 & Hore fad & 97 €T F oy

FRA/AAGT T G F AT 5. oo T T 3
T

(A) 10 @@ (B) 01 F005

(C) 10 &% (D) 0l @@

mwmsom#wmag@mﬂm
7 fopeT T & T E
(A) ®. 700 9T A&
(C) %. 400 gfe 718

mﬁmé’rﬁaﬁhwﬁmﬁmmwmﬁ
m"r—w&ﬁmmﬁmﬁ%naﬁmﬁmﬂ%ﬁam
e &Y @ -
(A)@MM%WWWW
(B) R & yerEn & fa5s
(C)aﬁﬁa‘?mnﬁa‘f%sﬁw%m&

(D) T & &TE T

(B) &. 1000 i =TE
(D) % & HE T

B e RS TR

@ﬁmwméz-enwﬁmw»ﬁmémﬁr
AT

(A) 4109, TEHT
(C) afee dgerht
arer &1 & frg qEIE § A9 99 fAfeE F
‘e 3T e faa

(B) TEW &I
(D) = Feart

(A) T 9ZTTH (B) I gl
(C) &= =t (D) it TEA
T H A WO a6 AT TR a9 T
(A) AfFary Fea (B) eHTST A

(C) g FH (D) T @ FE 7E

=g F TR qAEe 7 Ul AR A T A
i 7 A T WA & AT O T B ) I Arar
& A

(A) g1 ATt
(C) aifvar SfaTit

(B) 7@ fomemr
(D) T e
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G-10

:.I 1‘ Mateh the famous personalities of Uttrakhand to their | 11.
gontribution/area of work - 34
(«) Mola Ram (1) Immense contribution to
Kumauni folk music
(bF Swwani Ram (2) Fought for changes in the
practices and paradigms of
agriculture and food
(c) Mohan Upreti  (3) Great Patronage of Yoga
and Ayurveda
- (d) Vandana Shiva (4) Contribution in Art and
Painting
a h c d
AAal - 4 3 1 2
(B) | 2 3 4
(€) [ 3 4 2
(D) 1 2 4 3
112, Match the different towns of Uttrakhand to their old | 12.
TR - ATRE . S
meekary-Haridwar — (17 Kubjamrik
(b) Dev Prayag (2) Mayavati
(c) Rishikesh (3) Devtirtha
(d) Gopeshwara (4) Gosthala
a b c d
(A) 1 2 3 4
(B) 2 3 | 4
) 2 4 ! 3
(D) 4 3 1 2
7‘ 13. Match the different rivers of the state and it’s origin : 13
' (a) Ramganga (East) (1) Lipulekh ¥
(b) Saryu (2) Dey Tal
P (c) Saraswati (3) Namik Glacier
THRSEEN T (4) Baijnath
G b ¢ d
(A0 2 4 |
;('B?) 3 3 - '
o ,'(D) ey 2 .
i a5

SET-C

F

(@) Hrem (1) HaTEAr ww g o
W&ol drTeT
(b) T T (2) H 7 @ § g o w9
(c) HEA T (3) TnT T G F HEA
% e
(d) & f§a (4) e Far U F
ATEH
a b c d
(A) 4 3 I 2
(B) | 2 3 4
(Cra il 3 4 2
| 2 4 3

(D)

\C AYN T u '@ )

m%%mmmwmma

() T
(b) 2) HraEa
©) @) T

(d) TR —— —Hl(4) Tem
a b c d
(A)EL 2 3 4
3 i 4
(o)) i 4 J- 3
(D) 4 3 ! 2

S ot Rt AR @ o ST & gk

(@) Tt () (1) foge

(b) T @) 3@ T

(c) aTTH (3) i Wiy

(d) T 4) S
R b c d

AT 3 2 4 ]

2 3 2 1

(&) = 3 4 2 1

By 1 S 4
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15, Match the different Wild Life Sanctuaries with it’s year
of inception :

(a) Govind Wild Life Sanctuary (1) 1972
(&) Binsar Wild Life Sanctuary (2) 1986
(¢) Askot Wild Life Sanctuary (3) 1988

(d) Kedarnath Wild Life Sanctuary (4) 1955

a b o d
(A) 3 4 2 I
(B) 4 3 1 2
(C) 4 3 2 ]
(D) 1 2 3 -4

16. Match the different National Parks to it's year of
inception :

National Park Year of Inception

(@) Rajaji Nationa! Park (1) 1982
(4) Corbett National Park (2) 1936
(¢) Govind National Park (3) 1990
(d) Valley of flowers National Park  (4) 1896
a b c & o5
(A) 4 2 | 3
(B 4 2 3 1
(C) 2 - 3 8
(D) | 2 3 4

: G-10 ~ SETC
14, Maich the different scheme of Uttrakhand Govt. 1o | 14¢ S & amy i drmsii 1 37 9229 & Fifirs
theu'a:ms A &
Scheme Aims AN ol _R@W Bl
{a) Uttrakhand (1) Toreduce work load on the (a) TGS (1) Sl & F F P S A o
Sarvabhaum woman’s shoulder and to AT AT T AT TN TTH! T FH
Rojgar Yojana give her right direction to el fex ?FIT 3
| her labour (b) et am (2) 11-18 T 1 WA fEw 7
(&) Shilpi Gram (2) To improve conditions of T wefwat @ fafe w LAIASIE
Yojana girls ofage between 11 to 18 (c) Reolr oify  (3) aefior fae it 6t @ &
years belonging to poor families RER mgq % ferhre
(¢) Kishori Shakti  (3) To promote the rural artisans F g
Yojana andassist them in developing (d) SR afEwr  (4) Tvevor ey & e B Ao
' traditional handicrafi Tl AR % FEET A
(@) IndiraMahila  (4) To provide opportunities for
Samekit Yojana employment to people in : g f a
rural areas (A) ¢ 3 2 {
5 b 7 7 (B) 4 3 1 2
vr R B € 3= 4 g
(Cx5 3 4 2 | ’
e 3 4 1 2

1\; ﬁﬁqw%ﬁwﬁwmaﬁﬂm
(a)mﬁawaﬁaﬁw (1) 1972
(b) o= a1 g fEw (2). 1986
(c) ¥=k 77 e femw (3) 1988
(d) T 77 g fyem (4) 1955

a b ¢ d
(AY: "3 4 2 1
(B) 4 3 | 2
(C) 4 3 2 |
(D) 1 2 3 4
16. u@uwﬁﬁm@maﬁ%g&mﬁ:
TS Ja T a
(a) T S T g (1) 1982
(b) FTae TERT 9 (2) 1936
(c) M= g Fem (3) 1990
(d) T 3t Ok TSR TR (4) 1896
a b c d
Ay 4 2 1 3
(B) 4 2 3 |
= 4 3 1
5) LA 2 g 4
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18..

o

In Uttrakhand, the Vivekanand Youth Award is given

for the contribution in the following field—

(A) To disseminate the National schemes to public

(B) Topper of Intermediate Exam conducted by
Uttrakhand board

(C) Towork in information field, in state

(D) None of these

In Uttrakhand what is “Run of the River” Technique
(A) New technique to know how to swim in the river
(B) New technique of river rafting

(C) Topump the water up from river to power house by tunnel
(D) A and B both

T ¥ @it ST & AT gaEy

I8 AIH ALl W @ &, Tef 95 e &)
(A) 3T SHEE (B) fa9mwr Suawrr
(C) Pora fastaer Sy (D) w9 A

8T T IEE A @ ¥
(A) Tet
(C) 3%

(B) @
(D) =T

%,,-‘1Wh--m-M§~: e e

(B) & & F@m
(D) 9T @

(A) gET
(C) =T | @A

25. o 9 % T Iwdrl sEAEEd = #m

(A) qmafies, AFiaeE, e (B) wemEm, e, sl

(C) e, aeT, ST (D) Juie &l

:*; 2% F 9= % {6 0 g g

“ferat S| =g v

(A) T3

(B) wI-31ri
(C) =it Tt

(D) B

@itha 1% #1 9T 9iay S

B9 39a9 § 70 ‘
(A) fFa Seeh, fRGiT, FEAAH, bt e
(B) obam Fekch, qiewt, JEAH, I, Fared
(C) forar v, gfeer, UwHae, YAE, Fd
(D) B s, =hifei, agaed, o,

1. Who is the Brand Ambassador of ‘NOKIA’ :
" (A) Amitabh Bachhan  (B) Shahrukh Khan

(C) Salman Khan (D) None of these

G-10
17.

v

2'9.-

SET-C

st # fdaee 7g e e &9 F 3 7 W

e s B

(A) TS Frwat H T HEG 6 TEA :

(B) Tat@s 91z sdife swifeue e &
T H

(C) T~ & g Wraifrg & § Ff Fe

(D) T% & FE 7

STIEE & yiufed ‘@ o T e s | g

(A) 7 | &7 77 =4t fen

(B) frar g 1 ==t faer

(C) Irft %1 7t & FO7 3 WA | WA AEH 7 TEA

(D) A 3= B &=t

Fe=fofas arm § Taites s= 29 5 e fsor

(A) Freraras #rar fomm (B) fifaamas fear faseor
(C) ®Farass fpar fasmor (D) oftomsaress frar fgao

fasrer & B e arer RS # = TR &

(A) fard FasmooT (B) 352 fasmaor
(C) wagror (D) forar Fagmaey

T AT FT S o 21T
(A) &= (B) 9=
(C) ezt (D) =/

(A) WeiTET H & (B) T9W 7 TEHMI
(C) e FAT (D) &% § TE T

= ¥ g A @ T et

(A) BT et & o1 409 s )
(B) BTl HreTaadt e el A |
(C) & &=a1 &1 fame &v )

(D) BT SrqeTet F= F 9w faE 3

30/ = 7 § &9 @ 1= R @k

(A) Tmdrop
(B) Im=1
(C) TR
(D) T

31, HFa % TS THE 6w

(A) sy Tee
(C) 5omH &

(B) ymeEE @
(D) =¥ & = 78
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33.

34.

T

- 36.

(A) Jaika Bist

G-10
33 Malch the Utteakhand's National/ International sports

persans with their sports/games .

(@) Suresh Chandra Pandey (1) Cricket

() K.C. Singh Baba (2) Football

(¢) Trilok Singh (3) Weight lifting
{@) Tara Rawat (4) Athletics

a b ¢ d

{A) 4 3 1 2
(B) 3 4 2 |

) | 2 3 4

AD) 4 3 2 |

Recently, former Telecom Minister Sukh Ram has been
held guilty by a Delhi Court of misusing his official
position when he was in the ........ Cabinet :

{A) Man Mohan Singh  (B) Rajeev Gandhi

{C) Atal Bihari Bajpai (D) P.V. Narsimha Rao

Where seven arab®child of world has borned :
{A) Lucknow (B) Newyork
(C) Beizing (D) Sydeney

Recently, as declaration of annual remuneration
(incomie) of Rajya Sabha M.P,, who is top earners ;
{A) Abhishek Manu Singhvai |
(B} Vijay Mallya

(C) Arun Jaitley

(D) Ram Jeth Malani

In Uttrakhand who received *Victoria Cross’ :
{A) Darban Singh (B) Gabar Singh Negi
(C) Chandra Singh Garhwali (D) Both (A) and (B)

‘Who is addressed by the nick names “Almora Ki Beti,
Pakistan Ki Bahu” ;
(B) Raziya

‘1C) Nusm (D) Irin Pant
. ; 1"_r. .: -
Mﬁah%afamqs personalities of Uttrakhand to their
'_a\wards T ™
’ Nﬂﬂlﬂ _*é, Award

- ta) Qhﬁkdev Pmdey i d

o (d) Dr DswaaS%ngthaﬁum (4) Garh Gourav

(1) Sir C.V. Raman
{2) Padama Vibhushana

(4) Kﬂ?ﬂh Singh Rawat
: {3) Padama Shri

;d

SET-C

¥ T & e A e Rl F T w

gifem Y - .
(@) §T T U (1) fe
(b) .4, fifE T (2) W
(c) Ficires fife (3) WrrE
(d) T (4) Tt
= b ¢ d
(A) 4 . ' )
(B) 3 4 2 ‘
e R | 2 3 4
(D) 4 3 2 :

33, andt & el B 0 S 3 Sid g9 T 5
Y oy A A e ¥ S O ERT U8 3 GO A 4

aﬁmolmmsﬁwmﬁ@%ﬂﬁw
(A) e e (B) it Tt
(C) sea et are (D) vy, siasr 7
34 Fasa @1 07 et a=aT e YaT BT ¢
(A) TE&TH (B) =@
(C) it (D) fosdr
35 & E, wwﬁmmaﬁm@fm(m
it Y TE B, ﬁqﬁmmwaﬁmmﬁu
TR i B By S
(A) e 9 Rt (B) fawig wrear
(C) 3% STl (D) T S5 "l
36 m%maﬂﬁﬁaﬁﬁa@ﬁmmmgm
(A) T fHe (B) T fg wft
(C) == 4& Tgarit (D) (A) e cs)a‘ra‘f
37 fr & e o @ 44, Wﬁﬂaﬁﬁw'-}a
YA H AT AT E
(A) STz e (B) Er
(C) 8% (D) omafs v
38 uwa%ﬁﬂﬁaﬁm’rmmﬁmm’t
b S Eae
(a)g@azrm% () A
(b) g fiE T (2) e Fuer
(¢) T T9HE =2 (3) TZH A
(d) =1 & o AT (4) TR e
a b ¢ d
(A) 4 3 R HiE
(B) - 3 TR @2
() PP 4 Y S T
(D) 1 2 3 o

Scanned by CamScanner



39.  Match the different board with it’s headquarter -
| Board Headquarter
(a) Coffee board (1) Bangaluru
(b) Rubber board (2) Guntur
(c) Tea board (3) Kottayam

(d) Tobacco board (4) Kolkata

a b ¢ d
(A) ] 3 4 2
(B) -] 3 2 4
(C) 3 ] 2 4
(D) | 2 3 4

~ 40. Inthecold countries Ethylene Glycol is put in Radiators
' of Cars. This is done in order to -

(A) Reduce Specific heat of water

(B) To reduce freezing point

(€) To reduce cooling

(D). To make the water a good lubricant

41. Match the following folk song / dance to related place :

Folk Song/Dance Places
(a) Heer Song. (1) Bengal
(b) BilatiyaIiSong (2) Punjab
. {c).Gatba Dance (3) -U.P.
(d) Ras Dance (4) Gujarat
a b c d
(A) 1 2 3 4
(B) 2. 1 4 3
() 2 1 3 4
(D) 1 2 4 3

42. Match the Important National Days with correct dates :
National Days Date
(@) National Youth Day (1) 28 February
(b) National Technology Day (2) 29 August

“(¢) National Sports Day (3) 11 May
(d) National Science Day (4) 12 January
a b ¢ d
(A) 3 4 1 2
: (B) 53 4 2 |
3 o 3 1 2
(D) 4 3 2 !

. 43. WhenNational Online Examination Pattern has launched :
o (A) 21 November2011 (B) 02 October2011
“%  (C) 14November2011 (D) 15August2011

G-10

SET-C
3% hﬁwéﬁﬁmﬁq&mﬁ#gﬂﬁazﬁ:
ard qEasq

(a) T FrE (1) TR
(b) @R 92 2) TR
(¢) g 92 (3) Fram
(d) Ty g (4) Fe

a b c ad
(A& 3 4 2
(B) 1 3 2 4
ey | 2 4
My 1 2 3 4

o~
¥ & + 10

) -,‘P P ynih
40. 32 290 F ol R FrET & W § fre FR
| [T A8
(A) T #1 fafsne Fom % F37 F fw
(B) Wil @TEz #5 F49 F fav
(C) 225 &1 &5 & & fam

(D) WM &I 3T AP a9 2
4) = @ /99 #1 T9% =E & gate 5
TR/ |
(a) &R T (1) Fma
(b) wiEamedt =T (2) 9=
(c) T 7 (3) ST ¥y
(d) TEwen (4) T
a b e d
Aa) 1 2 3 4
By 2 | 4 3
©) = 9 1 3 4
(D) 1 2 4 3
42, faftr=r aredra feet ot o fafrsii & wifem =% -
T Raw fafr
(@) TS Ta1 e (1) 28 %ad
(b) TS FEE BEw (2) 29
() WHmEEaREw (3) 117
(d) T Rem Baw (4) 12 s=ad
a b ¢ d
(AY. 53 4 ] 2
(B) 3 4 2 |
oy TR | 3 1 2
(D) 4 3 2 1
43/ T AR ST SO 7 g F o
(A) 21 Fa=T 2011 (B) 02 =AY 2011

(C) 14 FF=T 2011 (D) 15 aFr 2011
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A4, Whatiis “Suger 30"

48,

45.
Rs. 50,000 prize will be given to the state students who | -
take admission in -
. AAYELT. (B) LLM.
(Cy IM.A. {D) All of these
46. 'Taj Mahal’ is threatened due to the effect of * 46«
{A) Chiorine (B) Sulphurdioxide
(€) Oxygen (D) Hydrogen
47. Match with correct pair : g/
Fruit Group Leading Producer
{(a) Apple (1) US.A,
(k) Banana (2) India
(c} Citrus (3) Brazl
{d) Mango (4) France
g ailE b c d
(A) ! 3 4 2
(B) - 3 | 2
1 W 4 2 |
[{5) I 2 4 3
48. The strength of the legislative counsil of a state can 48/
not exceed ..... of the membership of the legislative
 assembly
- (A) One half (B) Onethird
{C) One fourth (D) One fifth
49. Match the following : 49.
. {a) MahatmaGandhi (1) Dandi March
(5) Jawahar Lal Nehru (2) Red Shirts Movement
(¢) A.G Khan {3) Barboli Andolan
{d) Sardar Patel  (4) PoomaSwaraj Resolution
o S o at Lahore Session of
- Ry . Congress
a b : - d
(A T e 2
B e o R
sl {0

(A} Name of super computer
(By Name of i isotope
{C) An institute for providing coaching for LLT. 1o

children belonging to poor families
(D) None of these

As per latest decision of Uttrakhand cabinet, that a

G-10

44.

L

SET-C
BT 30" T B
(A) §57 F522T 51 T
(B) SmEdt2 1 g
(C) @Ak A, % fam iy aedt 0 Q4T FH704 T 0
T T A
(D) z78 7 %1% FE
He |, y39 91 AT 799 & B B U q99 50 T

(A) o2, (B) 3é.FmE.0m.
(C) amd. o0 (D) T35 & 7l
‘ArANEA F A% 99§ @90 F
(A) FAH (B) A7Ht EMFEE
(C) FtwiT (D) #EZA
g2 F1 gAfoA F1
Tl H E & TNEH
(a) @7 (1) g.ua.m.
(b) e (2) W
(c) Fazmm (3) @
(d) = (4) =
a b (o4 - d
(AT 3 T T —
(B) 4 3 1 % Al
(C), 3 4 2 ]
(D) | 2 4 3
fett w2t § e wfwe & @ w2t 9 wem, fram

wﬁ@m@maﬁwﬁmﬁﬁﬁ

T

(A) #wt (B) F faerd

(C) U= =g (D) dfeEr 9y

forer a7 At &

(a) weT At (1) =érad

(b) FATEY A AEE (2) = 728 A=

(c) it == (3) FfTEmT A=

(d) T 2 (4) FAF & WER
axftrasmﬁtprm
Gaf oGt

a b c d

(A) 4 1 3 2

) &l 4 2 3

Y 4 3 2

(D) 4 ] 2 3 &
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51.

82

53-

54.

b SRR PRI A, ek

55.

Which of the following elements can form greater
number of covalent bond :
(A) Sulphur

(C) Nitrogen

(B) Carbon
(D) Oxygen

Ethanal reacts with alkali to give 3 hydroxybutanal.
This reaction is

(A) Polymerisation (B) Reimer Tiemann reaction
(C) Aldol condensation(D) None of these

The electronic configuration of H- is :
(A) 1s° (B) 1s'
(©) 1§ (D) Is'2s?

Which of the following reaction is not possible :
(A) HC = CNa + CH,OH

(B) HC =CH + CH,Li

(C) HC = CH + NaCN

(D) HC = CNa + CH,COOH

Sea water contain’s 5.8 x 10~* gm of dissolved oxygen

per kg. Concentration of oxygen parts per million-

(p.p-m.)is:
“(A) 58 ppm (B) 5.8 ppm
(C) 0.58 ppm (P) 11.6ppm

Compounds which decompose below their boiling point
are distilled :

(A) By fractional distillation

(B) By steam distillation

(C) Under deduced pressure

(D) Bysimple distillation

56.

Bakelite prepared by the reaction between :
(A) Phenol and formaldehyde

'(‘VB) Tetramethylene glycol & urea

(C) Urea and formaldehyde

(D) Ethylene glycol & urea

The oxide which c#n not act as a reducing agent is :
(A) CO, (B) CIO,
(C) NO, (D) SO,

58, The pH value of a 10 M solution of HCl is :
- (A) Equalto ]
(C) Less than 0

(B) Equalto2
(D) Equal to0

G-10

50¢

53.

56,

i 8

il

SET-C
ﬁwﬁﬁﬁ?maﬂmw-zﬁlﬁmmﬁqﬁ
FHAM
(A) T (B) FE
(C) ArgEra= (D) 3T

. SO T A AR Y 3-ETeEE e &l & | A8
Ffferm &
(A) FEEAHT (B) TmT Zrze sAfufzwar
(C) Ue=Te | (D) Z78 & & 7El
H- &7 Zaai+® for=g &
(A) 1s® . (B) Is'
(C) lsj\’/" (D) 1s'2s?
frer & & @ @t AtlRaT @Va TR B

(A) HC = CNa + CH,0H
(B) HC = CH + CH,Li

(C) HC = CH + NaCN

(D) HC = CNa + CH,COOH

T & 9§ 5.8 % 107 gm SR g . g
gﬁ%nmwwmmmww.p.m)ﬁ
B

(A) 58 ppm
(C) 0.58 pmy

3t diftrer U FaeAiE & OF SuEfed @ AW E I
AT F E

(A) THTSAT 3THEA &0

(B) B fTEme= a1

(C) &9 T @ W

(D) ST srEae At g

Yz S R AT

(A) fFre wd wrifeeerzs

(B) Fftremesi= e ud i
(C) gftan vd wrfrserEs

(D) ZaTEE g U4 g

TE HTRITEE A STETIE H FE T S
(A) €O, ®) 0, /.
(€) NO, (D) SO,

(B) 5.8 ppm
(D) 11.6 ppm

WA it

HCI & 10 M fareras &t pH 2 -
(A) 1 By &n
(€) 0] A D)o
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59. Where did Britishers establish their First Trade Centre - 59.‘/‘-’3ﬁm“f 3wy ENOW A= HET R A
(A) Calcutta (B) Surat (A) THaHTT (B) W
(C) Bombay (D) Karnatak (C) T (D) FAEH

60. *Hydroponics® is a method of - 60, ‘EEEmitE faftr & @ ¥

~ (A) Study of development of soil T (A) gu-famm & e

(B) Study of soil protection (B) JET-H% FT SFeaad
(C) Growth of plants in liquid culture medium (C) "t =t gt wreaw § S
(D) Growing plants in laboratory (D) drai B garTImAr § ST

61.  Mostof the plants obtain nitrogen from soil in form of - 61, ey i firgdt & fopm & & A W }T‘“
(A) Free nitrogen gas ~ (B) Nitric acid (A) TdT TeEeE T (B) v I (REE )
(C) Nitrite (D) Nitrates (C) Argzree (D) e

62. Insoil, water available for plants is ; 62. & Ol & ford A A A Sueay B 2
(A) Capillary water (A) Hrerit Fa
(B) Hygroscopic water Aynp e ‘] A (B) EZUIEHITIF AT
(C) Gravitational water ~ > (C) TEyHd J4
(D) Chemically bound water (D) THAfE 7 97 AEE A9

63. Root pressure in a plant is measured by : 63. 91 % o 2T H AT AT E

- (A) Potometer (B) Manometer (A) UM BT (B) #_M=T BT

(C) Thermometer (D) Barometer (C), gz Zm (D) a7 am

64. Wilting of plant occurs when : 64. U YT T FRD E

(A) Xylem is blocked

(A) TZHT F JTEZ AT

(B) Phloem is blocked (B) TAITY H FT5E FAT
(C) Epidermis and few roots are removed (C) wirefiy 3 = w3 & P Glﬁ o7
(D) Pith is removed (D) g & fFEm & :
65. Maximum quantity of humus occurs in : 65« ‘ﬁ[ﬂﬂ' Tt ATy o Sites B R
(A) Lowermost layer of soil (A) Bz @t g9 Fas w9 &
(B) Upper layer of soil (B) 2 it sult wra §
(C) Middle layer of soil (C) e &t wem wwm
(D) Same everywhere (D) g9qi fdt & we wwre
66. Green plahts constitute : 66: T U et e ¥
(A) Firsttrophic level  (B) Second trophic level (A) T ST = (B) feAm AT =7
(©) T.hird trophic Ic’vel (D) Complete food chain (C) T 9o = H (D) T W e w
67. ThepHofa Fhmle so:! is usually around : 67. fepeft Suoms s # pH v ma: g &
(A) 23 (B) 6.7 (A) 23 (B) 6-7
(€) 8-ID (D) 11-12 (C) 8-10 (D) 11-12
68. Grcen-housa sffect refem to: 68, ‘drr-ersw ThTE & Awerd ¥ - .
(A) Cooling of earth (B) Trapping of UV-rays (A) JZ FTEUR BT (B) UV-Reesit &t f
(C) Production ofcereuis (D) Warmmg of earth (C) WHe TS (D) &t &1 Ay wE
I’f AT - l2 L
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“Little leaf of apple™ disease is caused by
(A) Virus (B) Bacteria
~ (C) Mycoplasma (D) Zinc deficiency
70. InC, plants glucose is synthesized in -
(A) Bundle sheath cells (B) Mesophyll cells
(C) Spongy parenchyma (D) Pallisade parenchyma

Living beings were divided in five kingdom by :
(A) Whintaker (B) Haeckel
(C) Stainer (D) VanNiel

C oA

72, The outer layer of mordboard plough is made of :
' (A) Cast iron

(C) High carbon steel

(B) Wrought iron
(D) High speed steel

& 73 Normal type of embryosac is :

(A) 8 nucleate, 8 celled (B) 8 nucleate, 7 celled
| (C) 7 nucleate, 7 celled (D) None of these

B
- 74.  Pneumonia can be caused by -
o (A) Bacteria
. (C) Fungi .

575,

(B) Protozoan
(D) Allofthese*

Ykt 1

Ty
.

Generally kidney stones are made up of -
(A) Magnesium phosphate(B) Calcium oxlate
(C) Uricacid (D) Cholesterol

A

P

VARV RIS R Ve e e
B e o =

76. The tusk of elephant are :
; (A) Incisor’s (B) Canines
(C) Molar’s (D) Premalor’s

1 ,
. 77. Which one is a carbohydrate -
i, (A)lulin (B) Raphide
g () Alevrone (D) Cyswolith
78 Mark the odd onc out -
(A) Starch (B) Agur

(C) Cellulose (D) Glycogen

79.Which of the following is not the correct math :
~ (A) Lamarck Philosophic Zoologique

(B} Natural Selection — Darwin
C) Pasteur |, —  Sterilization
) Theory of acquired —  Darwin

G-10

SET.C T
69. ¥ % gF T T H T HROCE :

(A) fam & 0 (B) oA -
(C) g | (D) fie & & §

C, Wt ¥ e @ fFmior w2t de @ i
(A) firrene Ffyra §  (B) Honfthe Higen MCﬂTﬁ
(C) Tt TEa (D) eirE Hges §

T AEt F 9 fFrew ¥ B R
(A) federat (B) #hd
(C) B (D) ar

(A) Taat /e it (B) fuzar &g #A1
€)== FEI B &l (D) T= 77 & &

‘7/0.

71

73 WM TR H YO B ¢
(A) 8 T, 8 F=ehg (B) 7 FIADE, 8 Frehgr
(C) 7 WiIH, 7 F5age (D) 398 § Fr¢ T8

74. i fEEd o A

(A) T (B) Wt
(C) vz (D) SR T
(A) BT wete (B) afmm s
_{O) It ufs (D) Frer=Ta
(A) THH (B) &z
(C) Hwr (D) iy
2. B ® A e ¥
(A) Tqfem (B) TERE
(C) veTEm (D) fo=fam
(A) = (B) wm
(C) i (D) TEE
(&) s 8 ~ R st
(B) TE% Hewmem ~ =
(C) W

7 ,_gh_amcter’s

(D) @t 3% e e wfe

13
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SET-C
G-10 3.
80.  Study of nest of bird's is called : g0, el % Giewl T AATT FErdn
(A) Omithology (B) Nidology (A) St (B)
(C) Conchology (D) Malacology (C) Tttt (D)
81. Jelly fish belongs to class : 81. St fiper form a7 & €
(A) Hydrozoa (B) Seyphozoa (A) ETEERIET (B) W ”ﬁl T m‘ &
(C) Anthozoa (D) None of these (C) TwitsraT (D) &
82. Maggotis: 82 qfe & ¢
(A) Larvaof mosquito  (B) Pupa of house fly (A) FBTHT war (B) T TG EH;I\:;
(C) Larva of house fly (D) Larva of dragon fly (C) =Yg vl & amar (D) 3T wIE
83. Which one is not correct for stomach : 83« frer & & oo @ forg F 9E TEE
(A) Pepsin (B) Renin (A) Tftas (B) ¥
(C) Lipase (D) Nucleases (C) @raas (D) IR
84. If the blood group of father & mother is A, then the | 84. Iz Arar-faar #7 @S I9 A & a1 3% a= & &S Y
blood group of their child : T
(A) A (B) AB (A) A (B) AB
(C) Aor O (D) None of these (C) A BTZHT\O/ (D) =74 & Fi3 TEl
85 Haemoglobin is a type of : 85 I UF FET g
— {A) Carbohydrate (B) Respiratory pigment (A) FHEEEZ (B) a9+ frrie=
(C) Vitamin (D) Skinpigment (C) Faeifire (D) = forres
86. A machine to remove outer covering (pod) from } '-TSﬂT-T fomd dreet & T | e w fEm amE
groundnut kemnel is called :
(A) Slasher (B) Conveyor (A) T (B) FaaT
(C) Haramba thrasher (D) Decorticator (C) &7 (D) RaEifFd=t
87. The grade of the hydraulic fluid used in tractor is |,87. & 4vit 1 eRFw 2 aTrgaan 2923 & SU40T & arar
generally : A@TE
(A) 20 W 40 (B) 15W40 (A) 20 W 40 (B) 15W40
(C) 10 W20 (D) 10W 15 (C) 10 W20 (D) 10W 15
88. The pump used in hydraulic system of a tractor is : 88, U X o BEHD SOMCT H F A G IeT A & -
(A) Vane pump (B) Screw pump YA (B) ¥R 9=
(C) Gear pump (D) Centrifugal pump (C) frx q\"T/‘ (D) Biﬁi’a‘#—'ﬁw o
89. An agriculture farming practice in which crops are { we # g fafa, T wwe, e B agae fe ﬁm
grown without disturbing the soil : A A Ay
(A) Pasture farming  (B) Lowtill farming (A) e @t (B) fe fomr &t
(C) Organic farming (D) None of these (C) A @t (D) 77 § Fg 7@
0. Anapproximate pressure used in sprinkler irrigation s : | 98. @ @, for o fgep e 7 v ®
{A) 20 psi (B) 40psi (A) 20 psi (B) 40psi
(C) 80psi (D) 100 psi (C) 80 psi (D) 100psi
: 14

LR TR T
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:ff.-; - Which of the folow jrg represent caleium chiorite :
. imtstio,), ~(B) Ca(ClO)),
; - (C) CaC IO A : :
( L (D) Cu(ClOy,
The given reaction 2FeCl, + SnCl, — 2FeCl, + SnCl,
is an example of :
(A) Third order reaction (B) Second order reaction
(C) First order reaction (D) None of these

Which of the following has the smallest size :

- (A) AP (B) F-

(C) Na” (D) Mg”

L Wthhfypﬁ’Pf the stipules are found in the rose leaf ?
1 i : (A) Adnatp (B) Ochreate
(c)..lmerpgziolar (D) Intrapetiolar

f95. ~The smenct of age determination of a tree with the

"’Q’& hélp of annual rings in the stem is called as :
£ (A) Phenology (B) Polynology
B L Dendwchronology (D) None-of these

96 Which of the tollo '&pes of RNA is ALin
,,«::’ rger %iibunitof a e karjotlc Tibosome 7

‘{ ‘(}A)‘ 28§ (B) 588

L o (D) 23§

!

7. When accessaty whorlsare absent ina flower, it is called :

(A) Monoch mydos  (B) Dichlomydous
(D) None of these

(B) RNA
(D) DNA,RNA and Protein

opict order of imbibing capacity of the

und :
Starch > Protein

tein > Cellulose

'f e hotosynthes:s
. (B) Formation of ATP

e G-10

frey & & @57 a7 Ffearad FARIEE N TEAT T E
(A) Ca(ClO,), (B) Ca(ClO,),
(C) CaClO, (D) Cu(ClO,),

92. # g affar : 2FeCl, + SnCl, - 2FeCl, 7 SnCl,

FEE B ¢
(A) Far &t 1 sffEar (B) faefra 4t 2t wfear
Syoft 21 sfafEar (D) T9H 4 &E T

(C) 99

Fret & @ PpgaET R §IE BT g
(A) APV (B) Py
(C) Na* (D) Mg”

P \‘{”"‘,"T(“,

94, Waﬁﬁwﬁ#mmo@:ﬂfwmg

l..9 1-.

(A) T3 (B) M2
(C) F=G~<H (D) F=TgE
957 aﬁmm%mmﬁ:&ﬁ&sﬂmﬁaﬁw%ﬁﬁﬁ
%1 F97 FEd & ¢
(A) S (B) A
(C) T2t (D) T & 15 TE »
Wﬁamﬁﬁéﬁmmm :
AT, T 9T €
(A) 285§ (B) 588
(C) 18S (D) 238
97 wﬁmmﬁ%mzﬁaﬁmﬁmmg
(A) THITEmga (B) faufzagat
(C) JurEst (D) =78 7 FE T2
3,8 i § 9gaad H gy SETE
(A) A1.TAT. (B) ¥WOAT.

(C) A TAY. T ILIAL. (D) ATAT, FLIAT, am

99, ﬁwwﬁa‘saﬁshwmamﬁm%
7 (A) B > B > T

(B) =T > SEH > FEA

(C) WM > = > W
| (D)ﬁrﬁ_ﬂaﬁéaﬁf |

None of these.
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